s .
(=3
L )

www.posu-pneumatic.com

. HE%#%?{H Main Block
BRMGER R
Universal COT‘I‘IPI’&SS

. ’ \SISNB R B8 {3 (Unit): mim
GH}'—

0

PHC-0806 6 74 224 15
MBX075 | 1.3 | 3.6 152 | 136 20.1 5 3
. PHC-0808 ] 74 23 137
E PHC-1006 3 7 246 1.5
PHC-1008 8 |Miox075| 15 | 35 | 85 | 166 | 178 | 251 | 215 | 137 | 6 4
PHC-1010 | 10 105 26 165
£ o PHC-1406 6 103 26.8 1.5
-
e PHC-1408 [ 10.3 27.3 137
| ] - M14X10 | 15 | 35 208 | 221 254 10 | 5
allE ﬁ PHC-1410 | 10 103 282 165
Sl | I — - PHC-1412 | 12 12 | 2186 208 | 262 | 187
L Y PHC-1810 10 12.8 31 16.5
o — 1 M18X10 | 15 | 42 248 | 274 30.2 12 7
=] /J [ 3t PHC-1812 12 12.8 326 18.7
RL oy
Br <
EAfGEREIEE)

Universal Compress (lvory)

9 s o

PHC-0806-W | 6 74 224 115
M8xX0.75 | 1.3 3.6 152 | 136 20.1 5 3
PHC-0808-W | B8 74 23 13.7
PHC-1006-W | 6 7 246 15
PHC-1008-W | 8 |M10X0.75| 15 | 35 | 85 | 1668 | 178 | 251 | 215 | 137 | & 4
PHC-1010-W | 10 10.5 26 16.5
PHC-1406-W | 6 10.3 26.8 1.5
[ PHC-1408-W | B 10.3 273 137
i e M14X10 | 15 | 35 208 | 221 254 10 5
ol - PHC-1410-W | 10 10.3 28.2 16.5
G}E A —|m PHC-1412-w | 12 12 | 216 298 | 262 | 187
e, | T kool U M18X10 | 15 | 42 128 248 | 274 LL 302 L) 12 7
\QEO_; /J L PHC-1812-W | 12 i ' ' 12.8 ’ T | 326 < | 187

=)
T
A2

PHC iEEGERE EEED

Universal Compress (Blue)

i o

PHC-DB06-BU | 6 74 224 1.5
PHC-0208-BU | 8 MEX0.75 13 3.8 74 15.2 | 136 23 201 137 5 3
PHC-1006-BU | 6 7 246 ns
PHC-1008-BU | 8 M10X0.75 | 1.5 35 | 85 166 | 178 | 261 | 215 | 137 6 4
PHC-1010-BU | 10 10.5 26 16.5
PHC-1406-BU | 6 10.3 26.8 1.5
il M14X1.0 15 3.5 Lt 208 | 221 = 254 .14 10 5
PHC-1410-BU | 10 10.3 282 16.5
PHC-1412-BU | 12 1.2 | 216 298 | 262 | 187
i, L M18X1.0 15 42 148 248 | 274 L 30.2 Lo 12 7
PHC-1812-BU | 12 128 326 18.7




